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1. Introduction

In RAN2#91bis, a few agreements on H-SFN (Hyper SFN) were made as follows.
-
To define the H-SFN as new frame structure on top of legacy SFN structure where each H-SFN value corresponds to a cycle of legacy SFN of 1024 frames

-
A H-SFN cycle of 10 bits indicating SFN will be adapted, for future proofness.  

-
To specify H-SFN in SIB1.  FFS if the precious bits in the MIB can be used 

According to the agreements, it is still FFS whether to include a part of the additional SFN bits into MIB. This paper will discuss this issue.
2. Discussion
For Rel-13 eDRX, RAN2 agreed to have 10 bits to indicate H-SFN and made a consensus that the additional bits are included into SIB1 in principle. 

One approach in which 1~2 LSBs among the additional bits are delivered over MIB has been issued. The approach can be beneficial in avoiding SIB1 acquisition if UE has a clock-drift problem. For example, with the 1 bit within MIB, the clock-drift of 20.48 secs can be adjusted with MIB reading only.
Other the other hand, with the following reasons, we don’t support this approach.
1. Considering the limited size of MIB, MIB has to include the essential information only. It is difficult to regard the 1 ~ 2 LSB of H-SFN as the essential information. It is a kind of optimization, but spending the precious bits in MIB.
2. It is unclear how much the clock is drifted for certain duration. And it would be different depending on the terminal specification.  A terminal with a high-fidelity clock need not read SIB1 at every exit from eDRX cycle. Rather, the terminal would occasionally re-acquire SIB1 with quite long period. In other words, the problem due to the clock-drift is so trivial even when the H-SFH bits are provided in SIB1 only, and we can easily minimize even the drawback with UE implementation. 
3. It seems obvious that SIB1 reading is a UE burden. But, we cannot agree that it will result in a critical problem in UE power consumption and latency aspect. 
4. If RAN2 agrees the SIB1 reading based SI update, the problem disappears.
Proposal: RAN2 to specify H-SFN in SIB1 only.
3. Conclusion
It is proposed that
Proposal: RAN2 to specify H-SFN in SIB1 only.
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